
R40.000

0
.2
5

A

0
.10

A

4
x

4
x

G
e
m
e
in
s
a
m
e
A
n
fo
rd
e
ru
n
g
:

8
B
o
h
ru
n
g
e
n

T
ra
n
s
la
to
ris

ch
e
E
in
p
a
s
s
u
n
g

R
o
ta
to
ris

ch
e
E
in
p
a
s
s
u
n
g

D
is
ta
n
z
m
e
s
s
u
n
g
X
=
3
.0
0
0

D
is
ta
n
z
m
e
s
s
u
n
g
Y
=
4
.5
0
0

45.000°

6
x

3
.0
0
0
±
0.1

4.500±0.1

22.50°

2
x

3
0
.6
15



R40.000

0
.25

A

0
.10

A

4
x

4
x

G
e
tre

n
n
te

A
nforderung:

4
B
o
h
ru
n
g
e
n
(links)

T
ra
n
s
la
to
ris

che
Einpassung

R
otatoris

ch
e
Einp

as
su
ng

D
is
ta
n
z
m
e
s
s
ung

X
=4
.500

D
is
ta
n
z
m
e
s
s
ung

Y
=4
.500

4
B
o
h
ru
n
g
e
n
(rechts)

T
ra
n
s
la
to
ris

che
Einpassung

R
otatoris

ch
e
Einp

as
su
ng

D
is
ta
nz
m
e
ss
un
g
X
=
3.000

D
is
ta
nz
m
e
ss
un
g
Y
=
3.000

45.000°

6
x

22.50°

2
x

3
0
.6
15

3.000±0.1

3.000±0.1

4
.500±0.1

4
.500±0.1



0
.2
5

A

0
.10

A

4
x

4
x

G
e
tre

n
n
te

A
n
fo
rd
e
ru
n
g
:

8
B
o
h
ru
n
g
e
n

E
n
ts
p
rich

t
R
e
ch
tw
in
k
lig
k
e
it


